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Level 2 Economics 2024
91222 Analyse inflation using economic concepts 

and models

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Analyse inflation using economic 
concepts and models.

Analyse inflation in depth using 
economic concepts and models.

Analyse inflation comprehensively using 
economic concepts and models.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–16 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet

+

No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.
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Subject:  Economics 

Standard:  91222 

Total score: 10 

Q Grade 
score Marker commentary 

One A4 

The candidate explained that an increase in visitor numbers will 
increase AD and therefore the PL, and that increases in costs of 
production (CoP) decrease AS and therefore the PL.  
To achieve Merit, there needed to be an explanation of causes of 
inflation using the AD / AS model with the concept of profit margins 
and / or the components of AD. 

Two A3 

The candidate identified the components of the quantity theory of 
money (QTOM) and described lower consumer spending as the 
reason for the drop in velocity of circulation. 
To achieve Merit, there needed to be a reason for the decrease in 
consumer spending that decreases velocity of circulation, and the 
candidate did not use the quantity theory of money equation to 
explain that a decrease in velocity of circulation would decrease 
inflation by a proportional amount. 

Three A3 

The candidate defined inflation correctly and described the effect 
of high relative inflation in New Zealand on X and M. 
To gain Merit, there needed to be an explanation about why 
minimum wage earners and savers would prefer lower inflation 
rates with reference to purchasing power. 

  




